O60.000 00 OO0@O 2

ISO/OSI OO0 OO 2000 OO0 OO0 OO0DO ODOOO Telegram OO, 00 OO OO0OO OO
ugogd oo oogodg oo oobob.bbo bbb bbb obobobh b0 OoOobbh bbb OO ooob.

SDA: 000 00 000 OO(FMSOO 0O0). 0000 0000 00000 0000
00 000 0000 0000 O.

SRD: 000 00 000 00 O O0O0O@PO FMSO 00). 000 Telegram D000 O
000 0000 000

SDN: 00 00 000 0OO@PO FMSO 0O0,000000/00000 0O0O0O0(@O
0000 00 0O000))

CSRD: 000 000 00 0 OO(FMSOO 00)

PROFIBUS-DP SRD O SDN ODOOODO ODOOODO.SRDOOO OO OODOO OO bOObO oo
o000 oooo ooo Oo0 Oob D000 OO0 Dob(@oUobbo Oboobo bOo)y obooobo. b
o000 bob0 0DOo0o0 OO0 00 “eSH’00 DOoobOOo.sbNOO0OO0OO ODOoO0obO bbo boo
O 0000 0000 Oo0oDO0.000 00 O Oogo triggerD O OOOO. SDN TelegramO O
oo gooo.

6.1 Telegram OO

U0 000 OO DO DOO binaryOOO)*17000. TelegramO OO ODOOO OO ODO DO 33
ThitsOD OO OO@O OO)Y OOO0O0 O0OO0.00 ODCQO0O0 0O OO OO0 OO0 ooo oo
gooOgooO. ASICO OO ODODbD oboo.

Telegram OO OO0 OO0 OOO OOOO.

SD: 00 O00OO0@EO0O0 OO0 o0 oobo o ooo oogy
FC: OO0 00@EDO,00 OO OO Telegram OO OO Telegram OO0 OO0 O OO0 OOOY)

OO0 TelegramO OO OODO OO DPOO OO

Function Code No.
(The MSB in FC=1)
SDN low 4
SDN high 6
Reserved/reg. diagnostic data 7
Request FDL status with reply 9
SRD low 12
SRD high 13

14

Request ID with reply




Request LSAP status with reply 15

OO0 TelegramO OO OODO OO DPOO OO

Function Code No.
(The MSB in FC=0)
Ack positive 0
Ack negative: (FDL/FMA1/2 user error(UE), 1
Ack negative: No resource for Send Data(RR) 2
(e.g., no memory space)
Ack negative: No service activated(RS), SAP 3
Not activated
Response FDL/FMA 1/2 Data low and send 8
Data ok
Ack negative: No response FDL/FMA 1/2 Data 9
And send data ok
Response FDL data high and send data ok 10
Response FDL Data low 12
No resource for sedn data
Response FDL Data high resource for send 13
data

LE: DA, SA, FC,DSAP, SSAP OUOD O OO0O OO

LEr: H=40 00O0O0O OO OO0 OO OO

DA: uo gggd

SA: OO0 bOo0o0O (b boooo oboo)

DSAP: 00 OO0 ODUOOO.00 OOODOO bSAPO DODOO OO
0000 Oo00O0 oo ooooo.

SSAP: 00O OO0 DODOOO

DU: OO0 OO(retdata, 00 OO 1-244000)

FCs: Oo0o0 00 Ooo0og@Woo OO ObobO oobo obo,0b0 oo
ASICO0O OOO 0ODOO Ooobo o ooooy

ED: End Delimiter(C O 16H)

gogd oo boo o0 oooobo boo oodo gobobo.oob bbb bbb boh boood
Hamming OO0 0O0OO0OO. OO0 OO0 OO0 OO OO OO OOODO DOD DODO OO0
Hamming OO 40 OO0OO 0O0O,FCSO ODUOOO OO0 OODOO O ODOOD DOOD.0O DODO
0O 10HOO 0000 Ooooob oog, Telegramd OO0 OO0 OO0 OOOO.D00D0 DO ODOO
OO0 OO ObOOo00 Telegram OO OO0 ODOOODO.0 DOODO OO OODDO DODOO DODOO.



HD=40O 0O0O OO0 OO ODOO OobOooboo.

-00 OO0 ODO@oo, o0 oo (overrun), framing 0 0)
-0000 oo

ooo oo/ ooog

-0o00 000 0bO 0oo

000 Telegram OO

PROFIBUS-DPO OO OODOO(SD)O OOODO OO0 OO TelegramOUOD OO0 ODODOOO.

SD1=Request FDL Status: 000 O0O0OO0 GAPOOOD OO0 0O 0000 000 000 0000
000 00 OO0 O TelegramD 0O OO0 (SD = 10H).

SD

DA

SA

FC

FCS

ED

10H

XX

XX

X

X

16H

SD2=Telegram: OO0 OO0 OO0 OO0 ODOD0O ODOOO.SRDOOOO OOODOO(SD=68H).

SD LE LEr SD DA SA FC DSAP | SSAP DU FC ED
X
68H X X 68H XX XX X 3CH 3EH X 16H
Length
SD3=Telegram: OO OO0 OOO OOO OODO Telegram(SD = A2H).
SD DA SA FC DU FCS ED
A2H XX XX X X.. X 16H

Dull OO0 OO0 OO sOoboooOoO.

SD4=Token Telegram: OO0 OO0OO0O O0O0OO OO 200 OO0 OO0 O0OODO OOO
Telegram(SD = DCH).

SD

DA

SA

ED

DCH

XX

XX

16H

6200000 00O O OO

O00 0O passive JOO0OO OOO OO OOOO OO0 OO OO OO0 O 0OOOO.00 DOO
00000 DO OO0O0O DOoOoo(rs=ThissStation) OO OODOOO ODO0OO(NS = Next Station) O




o0 000 Ob0ob00 000 o000 bDoOobh. 00 ODUODb0O GAPODOODO DODO Ooo@o
0:00 00000 ODb0O0O 127000 ODOO GAPDOUOD ODUOD DO)Y ODO OO0 OoOOO
00 “Request FDL_Status” OO0 OO O0OO0O0O0O DOODOO.000 ODOOODO,00 000 DOO
00 0000 OO0 000 00 0 Oo0b0 OboobOob obo bod (forward)D OO

ot oo o0 oooob obob 0o oobb.

- 00 00O (Multiple Token)

00O O 0O (Loss of the token)

-00 0000 OO (Error when the token is passed on)

0000 OO0OOO0O OO0 00 (Multiple assignment of station addresses)
O00/0D000 000 OO0 O0O0DO (Station with faulty senders/receivers)
-00000 OO O OO0 (Addition and removal of stations)

-000 0O DOO0OD0 ODO0O0D00 OO0 (Combination of active and passive stations)



